LessoN 10

Z Time Signature

. means there are 2 beats per measure.
In j time:

means the quarter note J receives 1 beat.

%and 2 both have 4 as the bottom number, meaning a quarter note J receives 1 beat.
The difference is that Z has 2 beats per measure while 2 has 4.

1 beat %—iJ ILJ 2 Icl { o H

2 1 2 1 2

In Ztime: J or g
Jor -

*A whole rest = is used for a full measure of rest, even if there are only 2 beats in each measure.
In writing music, a half rest and a whole note are never used in % time.

2 beats* Count: 1 2

Exercises

n Complete the measures é "2 =
using notes and rests.

Count and clap.

[a)
Circle the measures with 22 T ——-— y 3 ¥
the incorrect number of e e -~
beats. @
. b
Draw bar lines and a —) ¥ ¥
double bar in the correct e <o ¥ < o & ¢
places. Count and clap. [y
. z . )
n Rewrite the 4 music line —— & —
in Z on the staff below. S
Write the names of the
notes below the staff.
f (D) i
. |
|




LEssoN 11

Z Time Signature

. means there are 3 beats per measure.
In /4 time:

means the quarter note J receives 1 beat.

gLl

2 beats Count: 1 2 3 1 2 3 1

Jorg
Jorgg

A whole rest wr is used for a full measure of rest, even if there are only 3 beats in each measure.
In writing music, a half rest and a whole note are never used in 2 time.

Z, Z and Z all have 4 as the bottom number, meaning the quarter note J always receives 1 beat.

The difference is that:

Z has 2 beats per measure. Z has 3 beats per measure. Z has 4 beats per measure.
Exercises
A Rest Rest Note Rest Note Note
n Complete the measures — 1 ¥ ¥ ¥
using one note or rest. (-t # & e ¢
Count and clap. 123 123 123 123 123 123
. ; [a)
B Circle the measures with (>) - > 4 >
the incorrect number of @jj +gj = e i
beats. Py

B In the example below, draw bar lines and a double bar in the correct places. Count and clap.

A
D)

o

n In the exercise below:
a. Add the note stems, bar lines and a double bar. Add whole rests where appropriate.
b. Write the beats below the grand staff, then count and clap.
¢. Write the names of the notes below the beats.
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Dotted Half Note

A dot after a note increases its duration by half the original value: J

Count: 1 1 2 3
Say: Ta-ah ta-ah-ah
In 2 and 2 , a half note receives two beats. J J J
Because a dot following a half note increases its duration by 1 beat, - = +
a dotted half note has a value of 3 beats. 3 2 1

Count and clap the rhythm: % 51 L % 5l {L u ll sl I

Say and clap the rhythm:

J.

1 2 3 1 2 3 1 2 3 1 2 3
1 2 3 4 12 3 4 2 34 1 2 3 4
Exercises - — - S
n Write one note equal in value E Write the number of beats
to the sum of the notes or rests. remaining for each example.
a. J o+ J = va' J' = J =
b. J. i J = b. J' = J =
C : b = ¢ o - J =
d 3 + 3 = d o - = =
A Rest Rest Note Note Rest Note
B Complete the measures —A—— —) ¥
using one note or rest. DA~ e & €
Count and clap. ¢ 1234 1234 1234 1234 1234 1234
A Rest Note Rest Note
. A3
R L 3 <
¢ 1 2 3 1 2 3 2 3 1 2 3
n In the example below:
a. Draw the grand staff.
b. Add the note stems, bar lines and a double bar.
¢. Write the names of the notes below the grand staff.
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EEEl ActiviTY 1 Name/Class

23 4
Completing Measures in4, 4 and 4 Time

Professor Steinway is playing a concert tonight. Help her by completing

the measures below using either one note (N) or rest (R) as indicated.

Use after completing page 18.
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Identzjjnng Time Szgnatures

Write the appropriate zZ 2 time signa t the beginning of each line.

N R A I S VA VP R
s I L O I A A B
I S A DIV S E S PR
IV 2 0 A I S A VR PN
J S I O A S A

rcle the me e with the incorrect number of beats in each example.

ZJ SR SN D S P
SRS S N DV D PR .
AU SR S 3 SR P B
S S I S Y A (A I S A
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